28.01.21
LQ: Can I understand equivalent fractions?

Please read the teaching PowerPoint and then complete whichever section you feel confident to complete. Then have a go at a minimum of 1 challenge question.
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Challenge Questions
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ANSWERS
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A = 10
B = 6
C = 15
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Children can give
a variety of
possibilities.
Examples:
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Eva is not correct.

2is ivalent to
5 Is equivalent to

When the
numerators are
the same, the
larger the
denominator, the
smaller the
fraction.
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are incorrect.

Rosie’s method
doesn't always
work. It works
when multiplying
or dividing both
the numerator or
denominator but
not when adding
or subtracting the
same thing to
both.
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How many equivalent fractions can you
see in this picture?
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Eva says, z
| know that " is

. 3
o equivalent to = because
(o) 8
the numerators are the

same.

Is Eva correct?
Explain why.
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Rosie says,

To find equivalent
fractions, whatever you

do to the numerator,
@ you do to the

denominator.

Using her method, here are the
equivalent fractions Rosie has found for%

4_ 8 4_ 6
8 16 8 10
4 2 41
8 4 8 5

Are all Rosie’s fractions equivalent?
Does Rosie’s method work?
Explain your reasons.
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Here are some fraction cards.
All of the fractions are equivalent.

1 B 20

A C 50

A+B=16
Calculate the value of C.
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